Electron Configuration

I – Bohr diagrams

Electrons are depicted as “dots” in specific circular orbits around a nucleus.  Each orbit can only hold a certain number of electrons:

Shell no. 


electrons

1 _____
2 _____


3 _____
4 _____
5 _____
Eg.  Draw the Bohr diagram for sodium

Draw a Bohr diagram for Cl-1
Draw a Bohr diagram for an oxide ion
Draw a Bohr diagram for a magnesium ion


II – Lewis dot structures

show only the ___________________ electrons, arranged around the element’s symbol

Draw a Lewis dot structure for:

Carbon



Helium


Calcium


III – Energy level diagrams, orbital notation


Current understanding describes electrons as being in 

Electrons are arranged in shells of increasing energy.  Each shell has a different “n” number

Within each shell, there are different subshells possible:


	n value
	Subshells possible

	
	

	
	

	
	

	
	


Within each subshell are a number of orbitals

	Subshell type
	# of orbitals

	
	

	
	

	
	

	
	


Each orbital can hold a maximum of two electrons.  These electrons must have opposite “spins”

Rules for filling electron shells

1. electrons will fill the orbitals with the lowest possible energy first

2. a maximum of two electrons can be placed in each orbital

